3.3 Solving Systems of Linear Inequalities
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	Which of the following points is a solution to the system of inequalities?

x – 4y > 0
x + y ≤ 1
x + 3y > -1

	A  (-2, -1)
	B  (0, 0)

	C  (2, -1)
	D  (1, 0)
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Benchmark Test 1

Read each question and choose the 5. Mrs. Malone bought a piece of fabric that
best answer. is 54 inches wide and 2 yards long. She is
cutting squares from the fabric to use as
1. Which number is a rational number but not the backs of decorative pillows. The sides
an integer? of each square measure 14 inches. What
A —05 ) is the greatest number of squares that
B 0 Mrs. Malone can cut from the fabric?
C -8 A 6
D 5 B 15
C 19
2. What is the length /4 of the altitude in the D 27

equilateral triangle below?

6. Which expression is equivalent to
s om Lo — 12¢ + 36)?
E +(x + 6)
1
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3. What is the mode of the following data e — 12x +36
set?
7. Which inequality is graphed below?
94 52 34 95 q y s grap
91 40 99 94 4 .
90 73 79 146 B m
A 8225 B 90.5 :
C 9% D none
4. The line of best fit for the data in the table

is y = 6x + 38.5. Use the equation to

predict the test score when the quiz score A 2x+5y<10 £
. =
15 8. B 2x+35y=10 g
(v o) Relationship between C 2x+5y>10 E
E Quiz and Test Scores D 2x+5y=10 2
)
O a— b £
é 8. What is the value of —— when a = 6, g
> b =8, and ¢ = 10?
x 2 1
= E —5 F -5 &
E 85 F 855 1 2
G 86 H 86.5 G 5 H 5
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Benchmark Test 2

Read each question and choose the 5. According to their water meter, the
best answer. VanPelts used 3,600 gallons of water last
month. Due to errors in measurement, the
1. Which expression represents a positive actual usage U may vary from the meter
integer? reading by as much as 0.5%. Find the
A —(\5) , range in which the actual water usage U
B (_ \jg)z lies.
C (—V5) A 3420=U=3780
D (V5) B 3,582 = U=3,618
C 3,5982=U=3,601.8
2. Each face of the pyramid below is an D 3,599.9 < U < 3,600.5

equilateral triangle with edges measuring
10 inches. Find the length of the altitude of 6. Which expression is equiva]ent to
one of the faces and the surface area of the 0.25(x2 — 8x + 16)?

pyramid. E 0252 —4x+8
F 0.25x*—8x+ 16
G 0.25(x — 4)?
H 0.25(x + 4)?
7. What can you conclude about the system ‘
E 5V2 in.; 75V2 in? of equations graphed below?
F 5v2 in.; 100V2 in? T L

G 53 in.; 75V3 in? , 1
H 5v3in; 100V3 in? T

3. Which of the following is the measure of =
central tendency that is most atfected by HE

outliers? B - ]
: mezr'l A The system of equations represented by
c me dlan the graph has no solutions.

mode B The system of equations represented by
D range

the graph has exactly one solution.

]
E 4, Why should you use a random sample ¢ ;I;ll;e syst}fl:r}rll Of. egug:i?ns represeiltsd by E
2 when collecting data? graph has infinitely many solutions. 3
o D The number of solutions of the system £
T E To minimize bias in the data can not be determined from the graph. B
S F To simplify the sampling process S
> G To hide the identities of the participants | 8. What is the value of a’» — ¢ when
; H To insure an outcome favorable to your a=-3,b=4andc=-5 “
causc E —41 F 31
G 3l H 41
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